Vincent Šoltés; Anna Hrubinová Boundedness and unboundedness of solutions of an n-th order differential equation with delayed argument

Archivum Mathematicum, Vol. 20 (1984), No. 4, 173--176

Persistent URL: http://dml.cz/dmlcz/107202

Terms of use:

© Masaryk University, 1984

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

ARCH. MATH. 4, SCRIPTA FAC. SCI. NAT. UJEP BRUNENSIS XX: 173-176, 1984

BOUNDEDNESS AND UNBOUNDEDNESS OF SOLUTIONS OF AN N-TH ORDER DIFFERENTIAL EQUATION WITH DELAYED ARGUMENT

VINCENT ŠOLTÉS, ANNA HRUBINOVÁ, Košice (Received February 22, 1983)

Consider an *n*-th order differential equation with delayed argument

(1)
$$L_n y + a(t) f(y(g(t))) = b(t),$$

with $n \ge 2$ and L_n a differential operator

$$L_n y = a_n(t) \left(a_{n-1}(t) \left(\dots \left(a_1(t) \left(a_0(t) y \right)' \right)' \dots \right)' \right)'.$$

Suppose that a(t), b(t), g(t), $a_0(t)$, ..., $a_n(t)$ are continuous on $\langle t_0, \infty \rangle$ and f(y) is continuous on $(-\infty, \infty)$.

We shall prove that certain conditions are necessary and sufficient for all solutions of (1) to be bounded. The sufficient conditions for nonoscillatory solutions of (1) are different from that given in paper [4].

Let us use the following notational conventions:

(2) (a)
$$L_0 y = a_0(t) y, \quad L_i y = a_i(t) (L_{i-1}y)', \quad i = 1, 2, ..., n;$$

(b) $I_0 = 1,$
 $I_0(t, s, q, ..., q) = \int_{t}^{t} \frac{1}{1-t} I_0(r, s, q, ..., q) dt$

$$I_{k}(t, s, a_{i_{k}}, ..., a_{i_{1}}) = \int_{s} \frac{1}{a_{i_{k}}(r)} I_{k-1}(r, s, a_{i_{k-1}}, ..., a_{i_{1}}) dr$$
$$i_{k} \in \{1, ..., n - 1\}, \qquad 1 \leq k \leq n - 1, t, s \in \langle t_{0}, \infty \rangle, s < t;$$
$$(c) \qquad \qquad I(t, s) = \frac{1}{1 - 1} I(t, s, a_{1}, ..., a_{n});$$

(c)
$$J_i(t,s) = \frac{1}{a_0(t)} I_i(t,s,a_1,\ldots,a_i);$$

(d)
$$K_i(t, s) = \frac{1}{a_n(t)} I_i(t, s, a_{n-1}, ..., a_{n-i})$$

It is easy to see that

$$I_{k}(t, s, a_{i_{k}}, \ldots, a_{i_{1}}) = \int_{s}^{t} \frac{1}{a_{i_{1}}(r)} I_{k-1}(t, r, a_{i_{k}}, \ldots, a_{i_{2}}) dr.$$

173

It will be supposed throughout that:

(3) (a) $\lim_{t \to \infty} g(t) = \infty$; (b) $a(t) \ge 0$, $a_i(t) > 0$, for i = 0, 1, ..., n; (c) $\lim_{t \to \infty} J_{n-1}(t, t_0) < \infty$.

We shall consider those solutions of (1) which exist on $\langle t_0, \infty \rangle$.

Lemma 1. Let $a_i(t) > 0$ on $\langle t_0, \infty \rangle$. Then there exist constants α , β such that

$$J_i(t,s) \leq \alpha J_{n-1}(t,s),$$

$$K_i(t,s) \leq \beta K_{n-1}(t,s) \quad \text{for } i = 1, \dots, n-2, s < t, s, t \in \langle t_0, \infty \rangle.$$

Proof. We have

$$J_{i+1}(t,s) = \frac{1}{a_0(t)} \int_s^t \frac{ds_1}{a_1(s_1)} \int_s^{s_1} \frac{ds_2}{a_2(s_2)} \dots \int_s^{s_i} \frac{ds_{i+1}}{a_{i+1}(s_{i+1})} =$$

= $\frac{1}{a_0(t)} \int_s^t \frac{ds_1}{a_1(s_1)} \int_s^{s_1} \frac{ds_2}{a_2(s_2)} \dots \int_s^{s_{i-1}} \frac{ds_i}{a_i(s_i)} \left[\int_s^b \frac{ds_{i+1}}{a_{i+1}(s_{i+1})} + \int_b^{s_i} \frac{ds_{i+1}}{a_{i+1}(s_{i+1})} \right] \ge$
 $\ge \int_s^b \frac{ds_{i+1}}{a_{i+1}(s_{i+1})} J_i(t,s),$

hence

$$J_i(t,s) \leq \alpha_i J_{i+1}(t,s)$$

and therefore, in particular

$$J_i(t,s) \leq \alpha J_{n-1}(t,s)$$

for every i = 1, ..., n - 2.

The proof of the statement for $K_i(t, s)$ is analogous. This completes the proof of Lemma 1.

Theorem 1. Let conditions (3) be satisfied. Let f(y) be bounded on $(-\infty, \infty)$. If

(4)
$$\lim_{t\to\infty}\int_{t_0}^t\frac{a(r)J_{n-1}(t,r)}{a_n(r)}\,\mathrm{d}r<\infty$$

and

(5)
$$\left|\lim_{t\to\infty}\int_{t_0}^t \frac{b(r)J_{n-1}(t,r)}{a_n(r)}dr\right| < \infty$$

then every solution of (1) is bounded on $\langle t_0, \infty \rangle$.

Proof. Let y(t) be a solution of (1) defined on $\langle t_0, \infty \rangle$. There exists $T \ge t_0$ such that $g(t) \ge t_0$ for every $t \ge T$. n – tuple integration from T to t, where (1) is multiplied by $\frac{1}{a_{n-i+1}(t)}$ before each integration, yields

(6)

$$a_{0}(t) y(t) = \sum_{i=0}^{n-1} c_{i} I_{i}(t, T, a_{1}, ..., a_{i}) + \int_{T}^{t} I_{n-1}(t, r, a_{1}, ..., a_{n-1}) \frac{b(r) - a(r) f(y(g(r)))}{a_{n}(r)} dr,$$

where c_i for $0 \leq i \leq n - 1$ are constants.

Owing to Lemma 1 and to the boundedness of f(y), it follows that

$$|y(t)| \leq cJ_{n-1}(t, t_0) + \left| \int_{T}^{t} \frac{b(r)J_{n-1}(t, r)}{a_n(r)} dr \right| + c_1^* \int_{T}^{t} \frac{a(r)J_{n-1}(t, r)}{a_n(r)} dr,$$

and the statement of the theorem is immediately proved using (3c), (4) and (5).

Theorem 2. Suppose that, in addition to (4) and (3)

$$\left|\lim_{t\to\infty}\int_{t_0}^t\frac{b(r)J_{n-1}(t,r)}{a_n(r)}\,\mathrm{d}r\right|=\infty.$$

Then every solution of (1) is unbounded on $\langle t_0, \infty \rangle$.

Proof. Let y(t) be an arbitrary solution of (1) defined on $\langle t_0, \infty \rangle$. Consider $T \ge t_0$ such that, for every $t \ge T$, $g(t) \ge t_0$. If y(t) is bounded, then because of the continuity of f(y) there exists a constant K such that

$$\left|\int_{T}^{t} \frac{a(r) J_{n-1}(t, r) f(y(g(r)))}{a_{n}(r)} dr\right| < K \int_{T}^{t} \frac{a(r) J_{n-1}(t, r)}{a_{n}(r)} dr.$$

Together with the hypotheses of the theorem this can be used to prove that the right part of (6) is unbounded as $t \to \infty$ and so therefore we have y(t). This completes the proof.

Theorem 3. Let yf(y) > 0 for $y \neq 0$. If (3) and (5) hold, then every nonoscillatory solution of (1) is bounded on $\langle t_0, \infty \rangle$.

Proof. Let y(t) be a nonoscillatory solution of (1) defined on $\langle t_0, \infty \rangle$ and suppose e.g. that y(t) > 0 for every $t \ge t_1$. Owing to (3a) there exists $T \ge t_1$ such that y(g(t)) > 0 for every $t \ge T$. Since yf(y) > 0, f(y(g(t))) > 0 for every $t \ge T$; therefore relation (6) yields

$$a_{0}(t) y(t) \leq \sum_{i=0}^{n-1} c_{i} I_{i}(t, T, a_{1}, ..., a_{i}) + \int_{T}^{t} \frac{b(r) I_{n-1}(t, r, a_{1}, ..., a_{n-1})}{a_{n}(r)} dr.$$

Therefore y(t) is bounded. The proof for y(t) < 0 is analogous. This completes the proof.

Remark 1. The sufficient condition for boundary of nonoscillatory solutions of the equation (1) stated in the Theorem 3 does not follow from the condition which was stated in the Theorem 1 in [4].

Example. Consider the equation

(7)
$$(t^2 y'(t))' + \frac{1}{t^2} [y(t)]^{-1} = \frac{1}{t}.$$

The assumptions of Theorem 3 are satisfied, but assumptions of Theorem 1 from the paper [4] are not satisfied. The equation (7) has nonoscillatory solution y(t) =

 $=\frac{1}{t}$ bounded.

REFERENCES

- [1] Hrubinová, A.-Šoltés, V.: Asymptotic properties of oscillatory solutions of n-th order differential equations with delayed argument, Zborník vedeckých prác VŠT v Košiciach, in print.
- [2] Kusano, T.-Onose, H.: Nonoscillation theorems for differential equations with deviating argument, Pacific J. Math., 63 (1976), 185-192.
- [3] Singh, B.-Kusano, T.: Asymptotic behavior of oscillatory solutions of a differential equation with deviating arguments, J. Math. Anal. Appl., 83 (1981), 395-407.
- [4] Soltés, V.: Asymptotic properties of solutions of an n-th order nonlinear differential equation with deviating argument, Arch. Math. (Brno), 17 (1981), 59-64.

V. Šoltés, A. Hrubinová Katedra matematiky Vysokej školy technickej v Košiciach 041 87 Košice, Švermova 9 Czechoslovakia